B WITERIMEER OB LR, E(3 K MAn — BRI
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7 T ¥ & |t EERIBE K 5 S 15ERAT | 15~645% | 655011
A # 66,158 | 175,845 | 89,319 | 86,526 | 25519 | 132,948 | 17,378
=/ = R S O | 3,990 | 11,558 5,828 5, 730 1,921 8, 147 890
X =] i 640 1,943 1,000 943 262 1,511 170
o ity iy 233 451 288 163 49 344 58
F Al A ) 94 323 158 165 50 226 47
GiEl FF i 1, 980 5,535 2,769 2,766 619 4, 247 669
®mOBE w1 T H 576 1,320 673 647 124 960 236
w R N E 2 T H 598 1,461 717 144 210 1,027 224
% B ) omr 3 T H | 1,825 4, 457 2,278 2,179 729 3, 215 513
m B ) W 5 T H 1,197 2,953 1,528 1,425 293 2,190 470
B 15 iy 982 2,635 1,404 1,231 321 1, 983 331
TR ULE 1L TH 326 1,004 496 508 94 | 795 115
TR LA 2 TH 347 1,013 508 505 66 835 112
T’ LA 3 TH 405 1,208 575 633 126 952 130
TR LE4TH 509 1,493 748 745 170 1,176 147
Tk LESTH 370 1,156 566 590 95 967 94
TR LESTH 702 2,290 1,124 1,166 224 1,849 217
£ 1t & 1 T H 474 1,378 683 695 143 1,059 176
£ H & 2 T H 622 1,873 949 924 251 1, 424 198
£ 1 & 3 T H 397 1,034 521 507 126 810 98
fE 1t & 4 T H 291 897 456 441 222 644 31
e # & 5 T H 333 1,023 522 501 1217 829 67
e 1 & 6 T H 508 1, 467 752 715 221 1,173 73
B H & 71 T H 183 549 283 266 83 426 40
fE % & 8 T H 590 1, 942 979 963 378 1,471 87
&> & ¥R 1 TH 1,822 5,221 2, 6217 2,594 825 3,936 460
E o> & B R 2 TH 2,178 6, 174 3,041 3,133 995 4,671 508
= £ iy 870 2,542 1,312 1,230 373 1,993 176
N H ig) 342 733 371 362 94 462 177
R A B 1 T H 323 956 474 482 135 659 162
BN & B 2 T H 700 1, 635 843 792 195 1,234 206
ai i ilg 2,282 6, 221 3,318 2,903 1,000 4, 769 452
& e 7 2,669 7, 800 3,959 3, 841 1,085 5,870 895
iES it 7 1,112 2,764 1, 434 1,330 413 1,991 360
[ /N o = 936 2,531 1,236 1,295 401 1,928 202




3 Fk WTERIMRE B A, ARl (3 X)) RAL - AERNK . @)

i}y T ¥ | MR B B 5 z ISEEARTRS | 15~645% | 65501 1
tH iy 2,127 6, 217 3,119 3,098 112 4,806 699
1t 5 ) 312 766 368 398 124 473 169
1t E3) 7 1,074 2,832 1, 441 1,391 458 2,086 288
1t 1 T H 504 1,054 520 534 117 712 225
1t 2 T H 517 1,098 531 567 145 784 169
£ B 3 T H 659 1,520 805 115 243 1,074 203
£t B 4 T H 342 941 437 504 111 631 199
it B 5 T H 305 787 367 420 111 504 172
i3 R Jn 5 8 b 2 1 7 0
3 R n 1 976 2,835 1, 434 1,401 382 2, 266 187
1t R il 2 1,419 3, 995 1,983 2,012 624 3,094 277
A& =) J 3 626 1,772 881 891 239 1, 3917 136
1t R n 4 154 2,183 1,073 1,110 422 1,619 142
"3 R N 5 106 286 145 141 43 230 13
i3 R Jn 6 568 1,673 833 840 225 1,278 170
1t =) n 7 800 1,977 982 995 237 1,536 204
1t =) )N 8 670 1,973 976 997 259 1,567 147
1t R n 9 1,123 2,702 1,308 1,394 471 2,015 216
w Kk M 1 T H 1,252 3,043 1,547 1, 496 421 2,251 371
w ok W 2 T H 775 1, 960 997 963 225 1,429 306
# %k ®H 3 T H 1,285 3,397 1,722 1,675 435 2,505 457
# O H 4 T H 1,632 4, 206 2,067 2,139 617 3,061 528
# vk H 5 T H 3, 267 8, 370 4,191 4,179 1,204 6,271 895
# %k EH s T H 898 | 1,907 991 916 172 1,388 347
®EASH 1T H 1,156 | 2,490 1,386 1,104 | 481 1,936 73
ok A B 2 T H 1,861 3,894 2,157 1,737 743 3,030 121
B OR A M 3 T H 1,052 2,291 1,221 1,064 407 1,771 113
R A B 4 T H 364 871 456 415 159 663 49
= kR A ® 5 T H 920 2,021 1,119 902 438 1,531 52
B E A ® 6 T H 740 1,563 829 734 263 1, 245 55
w R KW 7 T H 1,616 3,833 2,074 1,759 751 2, 950 132
MmOt B T H 815 1, 754 885 869 147 1,258 349
Ak 2 T H 302 526 279 247 49 4217 50
2= % XK g 1 T H 658 2,051 1,039 1,012 343 1,591 117
g2 % K& 2 T H 268 692 349 343 107 531 54
2 % K& 3 T H 298 805 385 420 57 601 147
o B K& 4 T H 343 914 456 458 99 670 145




B3 M TR BRI, AER(3 X BIAD - ERINR (5ES)
gy %o E B £ £ iz 1555 | 15~645% | 655% L0 1
B 1 H 75 203 109 94 49 150 4
B 2 H 2317 670 336 334 144 501 25
I 3 = 149 413 204 209 90 314 9
1 Il i) 1,329 3,793 1,884 1,909 446 2, 890 457
1 =) =) 573 2,019 995 1,024 378 1,526 115






